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* Representations of text
« NLP : Natural Language Processing

« CS224n: Natural Language Processing with Deep Learning
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A dog 1is chasing a boy on the playground jexical

Det Noun Verb Det Noun Prep Det Noun analysis
\/ \/ \/ \/ (part-of-speech
tagging)
Noun phrase  Complex verb Noun phrase Noun phrase

\/

Verb phrase

Semantic analysis Prep phrase

Dog (d1). Syntactic analysis
Boy (b1). Verb phrase (parsing)
Playground (p1).
Chasing (d1, b1, p1).
sentence
+
Scared(x) if Chasing(_,x, ). \ ) _
A person saying this may be
i reminding another person
Scared(b1) to get the dog back.
Inference Pragmatic analysis

(speech act)
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Leaderboard

SQuAD2.0 tests the ability of a system to not only answer reading comprehension
gquestions, but also abstain when presented with a question that cannot be answered
based on the provided paragraph. How will your system compare to humans on this

task?
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- Word embedding : ¥ & H|ZE=IE 7[gh
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